Ch7and9

Suppose an object moves in the 2D plane (the 1,22 plane) go that it is at Ri: i genvectors:
the point (z1{t), z2(1)) &t time £. Suppose the object’s velocity is given by
zi (t) = ax) + b,
z5(t) = cxy + daa
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Or in matrix form AMMV HA” MVANV
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To solve, find eigenvalues and corresponding eigenvectors: . _ v vz Wy
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Case 1: {(a+d)% —4(ad —bc) >0 mwto \)%A&w .N.Ta.

Hence the general solutions is |~ | ==cy { * fent+ ms_v
ence the gen moa_oumumﬁnuvé&@n = o ) .

e 3: (at+d)? ~Aad—be) < 0. Le, r=Adip 2 COM/
Suppose the eigenvector corresponding to this eigenvalue is
A.E + dun v - Sv
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Z2 vacos(ut) —wasin(ut) wasin(ut) + wocos(ut)

|
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Case 3a: A<D \

~Cusg 35T A= 0
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